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Note: This question paper contains two parts A and B.
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Part A is compulsory u,hich carries 2,5 nrarks. Answ'er iill cluestiorrs rn Part A.

Part B consists ol -5 Units. Arlsr.r,er ilnv ()ne I'Lrll qLrestion 1l'otl each unil..

Each cluestion carries l0 rtrarks and ttlLt-v hat'c lt. b. c tis srtb qltcstiolts
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(50 Nlarks)

L Find the current 'l'
[5+5]

PART. A

State the Superposition theorem.

Distinguish betrveen potential diff-erence and electromotive force.

Define Periodic function and Cyc1e.

What is the significance of fort-tr factor arld peak factor?
\\'hrt is the ptrrpose oI trsing cot'e ilt 3 tl'anslot'mel''.'

Dcfinc thc rcgulation of transtormct'.
Lrst the basic requirements to prodr"rce e.nl.f.
What are the various losses in a D.C. Motor'?

What are the various classifications ol instruments'l

What are the variouts types of Anrnleters and voltnleters?

PART-B

Explain the Kirchhofl-s lau's2.a)

b) By using star-delta transfornration ior the follorvirrg l'igrtre

suppliecl by'the battery'? 
Â

3.

D:^...,,,. Ir rHrrr c. r
OR

cleterrliue the{.-sing method of superposition.
for the circuit in figure 2.

current thloLtgh the -5kO t"esistors
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F-igure: 2

,1.a) Erplain the concept ol Average value ancl RN{S value.

b) An alternating current var-vitlg sinLr-soidall)' rvith a frequetlc'" oi -50H2' ha:; an rnis

value of 20A. Write down the equlttion for the instantancotts i.'allte ;rnd lrnd this

value a[ (it 0.0025s. (ii) 0.0125s after'passrng thloLtch rr p()\rti\e nrrLtitt.tultt valuc.

,At rvhat time, nteasurecl from I posrtir e irtrrintL,,l r airte. rl'ill instantaneotl\

cun'eut be 14.lrtrA'l

5.a) In an a.c. circuit, v = 200 Sin

p0\e'er.

1,5 -,5 l

ort
1,, r+-30"1 V. i= 15 Sin (o t-300),A. Firrd reactive

1b) in a series.RC circuit, the,.values of R = l0tl O and C ='25 $F A sinLrsoidal: I 
voliage ol -50 N4Hz is applied and tiie marimnrn i,oltage acrois the capacitanc; is

2.,5V. Finci the maxiinum voltage ilci oss the set'ies combination and also

determine the apparent power. [-5r-51

6 a) Explain the translormer on no-load r,vith phas.or clia-urarn.

, , b) A 50F{z.singie phase transforrner has 6600V/400V. Having e.m.f per turn is 10V

artci tlte maximum flttr tlen'ilr in thc cot'e i: 1.6 Teslu. Find thc:

i) Suitable nuntber o1'prititarY and sectlndary tul'ns

ii)Cross sectional zirea tt1-ihe cttt'e.

OR
i. A 2-5 kVA, 2200/ll0\/. -50H2 single plra:;e triLnslornrer obtaineci the lollow'irrg tr-\t

t'csu It:.
OC test (L.V.side) = 220V, 1 2A, 100 u'

SC test (H.V.sidel = 100v, 7 A. 310w

CalcLrlate the parameters of the equivalent circuit of transformer referred to L.V.

side and clralv the equivalent circurt. tlOl

8. Explain ille constrlrctional details of a D.C. Generator with neat sketches. tl0l
OR

9.a) Derir,'e the torque equation o1-indLrctiorl motor,

b) A three-phase induction rnotor rlrns at l-1.10 rpm at tirll load wherr supplied po\\'er

fror-n 50 Hz,3-plrase line. CalcLrlate i) slip at lLrll loacl ii) frequency of rotor

L-i+-51

[5+5 ]voltage i'ir) speed of rotor at a slip of I070.

10. Describe the n-roving coil permanent nrugnet in\trlutttrttt viith neal. circr"rit diagram.
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I l. Explain thc csscntial rcquircntcnts of indicating instrumcnts u'ith necessary

: diagrarns. ... I tl0]
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